=
s

M
1\33

fbgﬁ:gi%&‘ﬁ“‘ﬂﬂmlﬁé‘%‘\ \fg #
i%ﬁg%%%ﬁ%1Xﬁ$%£gﬁgowﬁﬁT§

AR par A A BTt TR OE RS
2%1 Eﬁ@/z’k%—”—"ﬁ igg? ?éfgﬁ&%;q:

T oo

. ?‘;%_LLL IE%’}E;%-? £} ccmp@seed.net.tw
Notice:

| ndividual students, nonprofit libraries, or schoolsare
permitted to make fair use of the papersand its
solutions. Republication, systematic copying, or
multiple reproduction of any part of thismaterial is
permitted only under license from the Chiuchang

M athematics Foundation.

Requestsfor such permission should be made by
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1. 232547418+ 7675—2318=15100
[#%]
2325+7418+7675—2318=(232547675)+ (7418 —2318)=10000+5100=15100
2. 14x25x28x50=490000
(4]
14x25%28%x50 = (2x7x50)x(25%4%7)=700%700=490000
1><11><11><11><1l><11><11><11:505
2012 2013 2014 2015 2016 2017 2018 2019 503
[#%)
1><11><11><11><11><11><11><11
2012 2013 2014 2015 2016 2017 2018 2019
2013 2014 2015 2016 2017 2018 2019 2020 2020 505
2012 2013 2014 2015 2016 2017 2018 2019 2012 503
4. (125+60)%(16+36)=9620
[ 7% )
(125+60)x(16+36) = 125x52 4+ 60x52=6500+3120=9620
5. 101x334+3737x18=101000
[#%)
101x%334+4-3737x18=101%(334+437%x18) =101%(3344666)=101x1000=101000
6. 2012—2002-+1992—1982+1972—1962+---+32—22+12—2=1010
[#%)
2012—2002+1992—1982+1972—1962+---+32—22+12—2
=10+10+---+10=1010

10158
12+24+48+96+192 6
22+44+88+176+352 11
[#2]
12+24+48+96+192  12(1+2+4+8+16) _ 6
22+44+88+176+352 22(1+2+4+8+16) 11
8. 84984998+ 9998+ 99998 999998 9999998 4- 99999998 + 999999998 =
1111111092
(4]
8+ 98+ 998 49998 99998 4 999998 4- 9999998 + 99999998 4 999999998
=10—2+100—2+1000— 2+ 10000 — 2 + 100000 — 2 + 1000000 — 2 + 10000000




—2+100000000 — 2 + 1000000000 — 2
—1111111110—2x9=1111111092
9. 1111+1212+1313+1414+ - -+ 9898+ 9999 = 494395
[##)
111141212+1313+1414+- - - +9898 49999
—101x(11+12+13+14+---+98+99)
(11+99) x 89

=101x = 494395
10. 20.12x214+5.03+2.012x28900+50.3=2012
(2]

20.12x214+5.03+2.012x28900+50.3
—2012x214+503+2012x289+503
— 4x(214+289) =4x503=2012
11. (2012+2013+2014+- -+ 42209+2210)+2111 =199
[#2)
(2012+2013+2014+- - - +2210+2210)=2111
_(2012+2210)x199 1 _ 2x2111x199 1
2 2111 2 2111
12. 12.34+23.41+34.12+41.23=111.1
[##]
12.34+23.41+34.12+41.23
— (10+20+30+40)+(2+3+4+1)+(0.3+0.4+0.1+0.2)+(0.04+0.03+0.02+0.01)
— (1+2+3+4)x(10+1+0.1+0.01)
=111.1
13. 2012x40244024 —4024x20122012=0
[#2)
2012x40244024 — 4024x20122012 = 2012x4024%(10001 — 10001) =0
10101+ 20202 + 30303 + 40404 + 50505 + 60606 + 70707 + 80808 + 90909 _ 5

=199

14. .
10101+ 20202 + 40404 + 80808 +161616 + 323232 7
[## ]
10101+ 20202 + 30303 + 40404 + 50505 + 60606 + 70707 + 80808 + 90909
10101+ 20202 + 40404 + 80808 +161616 + 323232
_101011+2+3+4+5+6+7+8+9) 45 _ 5
10101(1+2+4+8+16+32) 63 7
15, 1 . _ 30
54 - 157
4+——



1 - 1 - 1 1 1 1 30
S5+ 11 S5+ 11 5+ 12 5+310 5+l 157157
4+ 1 4+7 44— 30 30
3+— — ! 7
2 2
1 1 1 1 1 1 1 1 1 1
16, —+—+—+—+ + + + + =—
24 40 60 84 112 144 180 220 264 8
(42 ]
1 1 1 1 1 1 1 1 1
—t+—+—+—+ + + + +
24 40 60 84 112 144 180 220 264
E(E 1) 1 1 1 1 1 1
8 3 5 60 84 112 144 180 220 264
- 1
(15 60) (84 112) (144 180) (220 264)
111 1,1 1 11 1
:—1+— — =+ )+ =CE+)+—(=+=
( ) 28(3 4) 36(4 5) 44(5 6)
i §+1 7+1 9 1 11
15 4 28 12 36 20 44 30
1 11 1 1 1 1 1
=—X—t+—X—+—X—+—X—
3 4 4 12 4 20 4 30
11 1 1
=2+t ot o)
4°3 12 20 30
i 20+5+3+2 1 30_1
4 60 4 60 8
17. 55+g—E X E+Z+i+13 1+Z—i+13 x 52
7 3 8 9 13 7 8 9 13 7
+1+Z+i E 2_2_3 =8
8 9 13 7 3 7
(A% -]
( 9 2) (l 7 1 13) (1 7 1 lBj (1 7 1
——— x| =+ — —+— ——— X924+ —+—+—
7 3 8 9 7 8 9 13 7 8 13
:(554____ E_g_3j (l+1+i+£) (E_FZ_L E) x 52
7 3 3 7 8 9 13 7 8 9 13 7
:52X(1+Z+i+5j_(1+1_i+gjx52
8 9 13 7 8 9 13 7
_ (1 7 1 13 1 7 1 13)
=02%x| =4+ —+—F+——=——F+———
8 9 13 7 8 9 13 7
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(170+10+10) + (7x11+11x13+13x7)

11 13 1

18. =
12x12-7x7+5x5 12012

(4]

A, 10,10y (7011411513 413x7)
7 1113

12x12-7x7+5x%x5
7x11+11x13+13x7 1
10 ( X
_ 7x11x13 7x11+11x13+13%x7
120

1

12012

19, (1+ 2052 4 (22+ 2022 2) + (333 + 2 x3) -+ (999999999 + 2% x 9)
45 45 45 15

—1097395697
€3
1+ —2012) + (22 + —2012 x2)+(333+ —2012 X3) 4 -eeeee + (999999999 + —2012 x 9)
45 45 45 45

—=1+22+333+---4+999999999 + 22;2

X(L+2+3+---- +9)

= (142+3+---+9)+ (20+30+40+- - -+90)+ (300+400+500+: - -+900)+- - -
+(80000000+90000000)+900000000+2012
— 45+440+4200+39000+350000+3000000+24000000+170000000+900000000+2012

—1097393685+2012
—1097395697
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